TATCARSE 5 2 Bl B2 T A b a B (50 )

[FnocaE 12 A 5] mhil e S 2R 8E =

[ &R ]
M x*+(4y+3)x+3
® 24x°y°
®) (x+4y)(x—4y)
@ (x+1)(3x+5)
5) @, @
6) 7
(7) x=2
8) —3<x<4
) AUB= {3,5}
A B
4
(10 5 6
10
(11) x=| 4
(12) +45 St
|| B [JE23| 110 |ABTHS,  FLTHD,
(1)~(9) 1145 445(10)~(13)11 45 345
[ &R ]
ml a=| —1 , | =2 |1y 3
@ 0 i(=2,0)wiyx==2{0! T
) y= (x—2)%+3
sl 72l Tx=_1 orxfgokfd
@) po-m-- b s
Rl | x=__ D& EE/ME__|
Y x +4x y=—x(x—4) LAl
®) x= =247
() 0 f{&
®) —3<x<3

1)
22 +4xy+3x+3
AT

9ix

{ } M,
Foix

[, IBNENE X
[ES =S P
(10)i%
SERSRED I

A1)
[4]DI1EMIT,
6),110) & 7],
14,6,10 113,

(13)ix
SERRRDH:
(748 41)

I

(Wix
a (250,829

(2) 1%

(7245 (LR
NLRDFH4R

—

)13
x=1 14
KA 255
oL 1
DFHA
(]S
[y =]D7aun
HOIEARA]
(O L TSRS
DR
LB T3

/J\Fll:ﬁ% 41'{‘?‘; ( §+ 32 l‘ﬁ;)ll\\

[B], M]molEE 23R L, O TRE LSV,

R L -RIEICORIR SV T WA IB] - L LET,

|G SN ':~_.' 2 Z~OHIZR T 5,
m 1), @ux%2m
@D COS A = T B)~GBNEE35
2+ 20 45
@ | 0 lgl ) _“% ) 0
(3) COSA= ——, sinA = 1
7/ 10 A/ 10
@) a= b5
(5) a= /21
( )R
|G SN ':~_." 2 Z~OHI%ERT 5,
1)~ )
(1) 11 A & 45
220 55
2) 12 ﬂﬁ]
3 12089
@) 308V
®) 908V
( )u\\
e e *H &
K 5
v A




